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No. BR A4 R % E R (mm) A% |4 a4 4 7 W C
1 FYY*®¥yTS 100F Y Y — S450~900 2000 1 X 100F Y Y —S450 450 100
2 FYYDL—AL 2000 2 " " 500 500 125
3 WEKEBRAIL A —A L 2010 2 " " 550 550 150
4 FYYHRILE— 100F Y Y H—450~900 4 & " 600 600 175
5 FYYHRILE—RTY G 8 " " 650 650 200
6 FYYDL—LF vy b 8 " " 700 700 225
1 FYYXKEICaA 2k 100F Y Y J —450~900 1 " " 750 750 250
8 1k 7K 4 B AR PS 2060 2 " " 800 800 275
9 17K BIAR F S400~700 2100 1 " " 850 850 300
10 AT UINRD F M6 x 35 10 S " 900 900 325
11 AT URARIL b M6 x 40 10 "
12 TFOXYRNTUH— A G —660 10 "
13 ATUIYv— 1.5%18%6.55% 10 "
X ITFLT—7F t1.0x w30 6000 1 ]




